HIT RO R E—

Frk23F12A8BHIE

BIE RIERER[ 1 Sv/h] a5 BIEFER[ 1 Sv/h]
o AR =x =x =x "% = BIE xR =X =X =X e
100cm 50cm 5cm 100cm 50cm 5cm
1 |BEEmIBOSLT 0.10 0.13 0.42 21 |55 0.07 0.06 0.07
2 [#ABZEUVELT 0.08 0.10 0.19 22 |RERIE(FA) 0.08 0.08 0.11
3 |REFBIEERKRT 0.07 0.08 0.1 23 |#RERE L 0.08 0.08 0.1
REmEYME = N
4 OELF 0.06 0.07 0.13 24 |WRERIE(R) 0.08 0.10 0.13
5 [EYETAE 0.07 0.10 0.13 25 |RESR 0.08 0.07 0.08
6 |4VEMEIE (Fadm) 0.08 0.12 0.15 26 |1 SE=E 0.06 0.06 0.07
S
7 %Eﬁﬁ@’ﬁ 0.07 0.09 0.19 27 |ams 2= 0.05 0.06 0,07
AEEADO B LARKE
8 AT 0.05 0.07 0.19 28 AT 0.08 0.12 0.21
9 |FEafiRAE 0.08 0.12 0.16 29 |BLEHEKE 0.11 0.15 0.26
10 |F—ILEEL 0.07 0.09 0.10 30 |BLEEHEKE 0.09 0.11 0.19
1 |AEEEMRET 0.07 0.10 0.18 31
T=ILovT—15
12 Bk 0.06 0.05 0.06 32
ToILERAREE
13 TN 0.07 0.08 0.10 33
14 REFRAE 0.08 0.08 0.13 34
15 [RERBEL 0.12 0.15 0.27 35
16 |FREBREELT 0.24 0.36 1.52 50cm (& 3[E18IE 5 E 36
17 |2 RER 0.06 0.06 0.09 37
18 |M=/NNEFRET 0.08 0.10 0.30 38
19 |¥T7—ZFBET 0.09 0.12 0.48 39
20 |AEEEALAE 0.07 0.08 0.09 40
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